n000 100 60

2 00000000 (0O0)

gbogbobuodbobooobuoobooobuoobbodboo
gob 2000000000000

00 y=f(x) 0000 000000y D0O0OOOOOOODOO
gboobobbogoboooboboboo1gobobrion
gboboboogogbbboood

2000000 z=f(r,y) DOODODOODOD 20000010
gbgogbuodgbuodbuodgbogbuogbo 1obboboo
O000000000000000 (Cooo)00ooooooo
gboobobodbogbbuoobboobobboobbooboo
goboboooobbboooobbobooon

21 0O0OO

200000000 PO R*O0O0OODOOOOOR?0O00O0O
gbobobboboooobbbbooooooobobbbogo
gol1boboooobo ROODOObLObOOOoboooDOoDo
gbboboooboboboboboobboboooobobo
gooogo

HEN

D:{(:c,y)eIRi2

1
O<:E<1,—2<y<sin—}
x
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ooboooobooobooobooOooboobooooboobo obogD

OobodobopOOOoDOOOOODOOOODDOODOOO z=0

gobobooogbod
gbbboooobbbuooobbboooon

D={(z,y) eR*|0<2<1,0<y<1l,re€QuyecQ}

0000000 opOOO0O0OOODOOODDOODOO

goooouobbbbbdodoooouaoobbbbbdodo
goodooouoobbbobibooooouoobobobbibogo
god

00 2.1 [00000] 0000000000000 0200000
000000000000000000000000Wo000
gbbog3uggbbuooboobbuoobbooobban
gobobooooboboood

pooOoobbOoobobooobooboboobboobbon
ooooooooboobooooopooboob—-0D0O DODO
0000000 p2ooD 00000000000 OODNID =0
gobobooooboobogao

00000000000000000000000000000
000000000000000000000000000000
000000000000000000000000000000
00000000000000000000000 (000000
0ooo)o

00000000000000000000000000000020
P=(r,y))0Q=(2',y/)eR2000 PO QUODO d(P,Q) DO

d(P,Q) = /(z — 2>+ (y — ¢/)?

oooogo

(1) 0D0DdP,Q)>0(00000 P=QO0OO00)

(2) 00DO00d(P,Q) =d(Q,P)

(3) 300000d(P,R) <d(P,Q) +d(Q,R)
0o0ooobooooooooboooon 3oooouooouoooooa
P=(z,y,2),Q =(«,¢y,2) 000

UP.Q) =V TP P+ (- P

000000000000 0O00CODO00OODOOoooOOoOD (1) -(3)
gbobobobobobobobob

ooo0D000000000000000000000000000000
oboooooooooooo
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00 2.2 0000000 200 (00)0000000000RD0O00
0®@®oooooooooooo
0000000 U(P) = {QeR?|d(Q,P)<e} 0 PO 00O
(e-neighborhood) 00 OOR? 000000 ADOODOD POODO &0
00 ADDDODOOOPO AOOO (inner point) 0O000AODO

000000 ADDOD mtAODOOPO e 000 ADDODOOO
00000000000PO ADOO (outer point) 1000 AOOO
0000000000000 (boundary point) 00000000000
00 6A0D0DO0O

AO00 0ACADODOODOOODADOOOO (closedset) DOODOO0AN
A=@U00000 ADOODO (openset) 0000

A0D0D000D0D00O0O0O00 (connected) 000000 : OO0 2
0PQeA0D0O0ODOI=[0,1]00AD0000000 f(0)= P,
f()=QDO0O00D0000000

000000000 (domain) 00O00D 000000 DudbO D
0000000000 (closed domain) 0000(0) 0000000
{(z,y) eR?|2?+y*< M} 000000000 (bounded) DOOODO
00

gdoo *2.1 OO0 DOO0OOooDbO0OooOoOog
(1) D={(z,y) e R*| 2 +y* <1}

<mD={mweW
(3)D={(r,y) eR*|0<2<1,0<y<1l,z€QyecQ}

1
O<x<1,—2<y<sin—}
T

22 QO0O0O0OO

guobgboboobooobobibo 2b0b00b0oobobodaog
00000 2000000000000 (D0 30000000)O
bbb 0000000020000 o00000000O0O0O0
goooo

R200000 DOOODOOOOOO 200000000

f:D—R

00000000000 100000000000 ®0o00o0o0
obobooobbbog 20b0000oboboboooooobbooo

AR = {(21,...,2,) |z €ER(G=1,...,n)} 0 n 00000000000
P=(x,...,2,) 00000020 P=(z1,...,24), Q@ = (v1,...,y,) OO0
00 dP,Q)=+(z1 —y1)2+ + (v, —y,)2 000000

00000000 Gy ={(zy,2) €R®| (z,y) €D,z2= f(z,y)} 000D
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300000000000000000000000000000
0 Mg

00 23[00] bpoooOoOoOoOO
f:D—R

00000P = (z,y)00000 P, =(e,0) 0000000 (O
0 d(P,P)=+/(t—a)?+(y—b20000000000000)0
f(P)=f(z,y) 00000000 ADDOOO (|f(P)-A0000
00o0000)00000O000

Ph—r>1}30 f(P) - A, (x,yl)liria,b) f(SC, y) = A? ml%(éf(xv y) =A
Yy

f(P)—A (P—HR), [f(z,y)—A ((z,y)—(a,D))

OD00000PO ROOOODODDO f(P)ODDODOOO ?QO
200000000 10000000000000000000
000000000000000000000000000000
D0000000D0000000D0000000000000

100o00ogobobbouooobobodao

00 24 (1) 00D0O0OO0OOO0OO0OODOO

1) Jim (f(P)+g(P))= lim f(P)+ lim g(P)

2) lim kf(P)=Fk lim f(P)

P—Py

3) lim (f(P)-g(P))= lim f(P)- lim g(P)

P—Py P—Py P—Py

lim f(P)
. . f(P) PSR
4) 1 P)y000001 =
) Pl—{l}vog( )7 PLR, g(P) Phn}D g(P)
—ro

(2) 00O f(P)=g¢(P)DODOD lim f(P) < lim g(P)

(3) 00000000 f(P)<g(P)<h(P)DOD lim f(P)=
— 10
lim hW(P)=A0000 lim ¢(P)00000000O0 AODOO
PHP() P*}PO

W300D0D00000000 w = f(vy2 000000000 Gy =
{(z,y,2,w) eR|w= f(z,y,2)} 000 40000 R* 00000000
@es 000000 OOOO0

Ve>030 >0VPeD 0<d(P,Py) <0 = |f(P)—A|<e

oood
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goob =22 0024000000

125 () fn) =5 (@) #0.0) 0l ()

000000000 x = recosf,y = rsinfd 000000
Oo0000(x,y) — (0,00000000 d0ODODODODODODOO

DDDr—>—i—ODDDDDDDDDDDf(x,y)DDDDD
r cos Or sin 6

00000 f(r,y) = ——— = rcosfsing 0000

r
|cosf] < 1,|sinf| <100

|f(z,y)| = |rcos@sind| <r

0000r—40000 f(z,y) 00000

Ty
) J@9) = 2 (@) # (0.0) 00DDO0I00OC
in fr cos 0
0000000000 f(r,y) = —— 227 — cosBsind

r
DDDDHDDDDDDDDDDDD6:%DDDDDD

1 3
(Lw—uammmmmf@wﬂjEmmmmmmez—g

1
000000 (z,y) = (0,000000 f(z,y) 0 — 000

gbobbooodgbobbbuoooobbbooodaoboo
goboboogoobboobooon

00 26 0000000000000000000000 25 (2)
00000000000000000000

lim lim £ (z, y)
000000000000000000000 yO0 000000
0z0«00000000000000000000000 20

yooboboboooboboboboboboobobobon
gboobobobooboobooon

gboud 23 00boobooboobooboobooboo
gbobbobooodagn

(1)  lim 2yt (2) lim 4y’
(z)—(00) T +y—1 (2,9)—(0,0) 22 + 12
(3) lim (z =1+ (y = 1)° (4) lim Ty
@y—1y (z—1)2+ (y —1)? (2,9)—(0,0) 22+ zY + >
:L,Z + y2

5  lim — 7
<)WW%MMﬁ+$y+¢
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00 2.7 DOD0OODOOO0 f(P) = f(z,y) 00 Py = (a,b) O
00000 (continuous) O O

A f(P)=f(R), OO0 ;- f(z,y) = f(a.b),
O000oO0o0ooo0ob0O00bO poooOooooOoO fO DODO

000000000000 0000000 (continuous function)
oodg

gbobooboooboobobooooboboooboboo 1
gobooboobobobobobboobooboobooboobo

00 28 [J000C0] 00O00O0O0OOOOOOOOOOODODO
ooof

oooo =24 0028000000

10bogbbogoboogbbuoobbuobboobboo
gbbboobbuoodgbbbuoodobbbodobbboodonbn
gbobobooogbobobooooboboboooobooboood

23 00O

10000000000000000000000000000
00000000000000000000000 2000000
000 2000000000000029(000000)0000
00000000000000000210(000000)000
0000000000000000000 10000000000
00000 20000000000000000000 (0000
0o)oooo

10000 000000 = 00000
0oo000 0000000 < 000000
(0oooo) (0oooo)

00 29 [0000] 00 z=f(z,y) O (z,y) =(a,b) 0000
goooooooogn

lim f<a+h>b) B f(aab>
h—>0 h
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gbobobooggboobbobuooooboo

af 0z

w o
Ooooddd 000000000000 100000000
O00oo0oooo0oooootdn « 000000000000
00 2= f(zr,y) O (z,y) = (a¢,b) 0000 yOODOOOOODO
oo

lim f(a7b+k)_f(aab)

k—>0 k

goboboooobboobbobooooboo

o o
ayayyy

goobodgdgdybbbbbbbbbbibf01bboodogo
gboboboooobbbuodbbyoobbboooooboo
00000 yudbogbbobobogbuoadgboaboo
god

gbogbboobodgbboobobdodobbbobbodboo
gbobogbobodbooogbogobbooboobbooboo
goboo

o T @200
| 0 (,y) = (0,0)

gbob 2.5 0OO000O00O0b00O0bOobobodobobobo
gbogbobodboobbuooobobooboobbooboo
gobbodd

l1ogobbogoooobobooooobo 2000000000
goboboogobbbug 210000boboogd
gbudgbogboobbobobogbuogbuooboaboo
googbuoobl1obobbobbooooouoobobobibogo
goo

gbobobo1bobobobobobo 11000000000
googoood
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Lo

0000000 LO00O0LO00 1000000000000
00 @ = (z0,4) 0000L000000000(QO0O000O0)
Da=(e¢,b)0000LO000000D0000D00O00O0000
x=(r,y) 000000000 z—2 00000 a000000
00000000000

(x —xp,a) = (z — 20)a + (y — yo)b = azx + by — (azo + byo) = 0
c=axg+byy DO OO
L={(z,y) e R?*|ax+by=rc}

gbodbbobbobbobb 1oobbobbobbobbo
goobooggn

gboobobol1gbboobuoogb 1bo0bogbbo
gbooobogooboob

0000000 LO0O0O0DLO0 1000000000000
00 @ = (z0,40,2) 0000L000000000 (00000
0)0 a=(a,b,c) 0000LO0000000O0000O00000O
00 o= (2,y,2) 000000000 -2, 00000 a000
000000000 00000

(x —xo,a) = (x — x0)a+ (y — yo)b + (2 — 20)c
= azx + by + cz — (axo + byo + czp) =0
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d=axy+bys+czop OO OO
L={(z,y,2) ER¥| ax + by +cz =d}

gboodbbobobobbobb 1oobobobbobbooboo
goobooon

O00 z=ar+by+c0000000000O0DO0ODO0O 200
(y=000000)000000000 z=ar+c000000
U000 el zz-0000OUOOO0DOO0OODOO0OOOOOOOOOO
U000 ye-00000000O0DO0DO0ODODOODOOODO

00 210 [00000] f(z,y) 00 (¢,b) 00000000000
000000000 4,B,C00000

fla+h,b+k)— (A+ Bh+ Ck)
N

e(h,k) =

goodd
lim e(h,k)=0
(hk)—$(0,0)
0000000000000 f(r,y) 0 (e,b) 0000000000
r=A+Bh+Ck0O 2= f(z,y) 0 (¢,b) 00000000000
goggbbobobododgoubbbbdooooubobooboooad
goddooboobbbbboooooooouoboooon

0000 2.6 f(z,y) 0 (a,b) 000000000 f(z,y) O (a,b)
of of
0000000000A= f(a,b),B=——(a,b),C = ——(a,b) O
f(a,b), 5 (@), ayMJ
00000000
00000000000000000000000000000

gbobobbbbobobuooboboboobobobodobo

00 211 f, f,00000000000000000 fOOOCO
goooboog

oogo *2.7 00211000000

gbodogd 2.8 0000 2500000000000000000
gooo
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